SAMPLE QUESTION PAPER

ECONOMICS
Std. X1 Total Score : 80
Time :2Y hrs.
INSTRUCTIONS
1. Read questions carefully before answering the questions.
2. Calculations, figures and graphs should be shown in the answer sheet itself.
3. All the questions are compulsory
4. Maximum time allowed is 2 hrs 45 minutes, including cool off time.
3. First 15 minutes is cool off time, meant for reading the questions carefully.

Some terms in Economics are given below,
Scarcity, Wealth, Growth, Welfare

[dentify the name of the Economists and this definitions associated with these terms.

Score.2
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Score.2
The Supgly Curve of fish prior to the trolling ban is given below.

price of fish/kg.

©quantity demanded x

Draw the supply curves prior and after the trolling ban, What term do we use in

i i ?
Economics to denote this change? Score.2
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Score.2

The following table shows the demand and supply schedule for coconut in the
Kozhikode Palayam Market on 30" July 2006,

Price Quantity Quantity
demanded (in 000’s) supplied (in 000’s)

4 25 5

6 20 10
g 15 15
10 10 20
12 5 25

(a) At what price, the forces of demand and supply are equal? What do we call this price
in Economics?

Score.1
{(b) Analyse the demand and supply conditions atprices Rs.6 and Rs.10

Score.2
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6 20 10
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10 10 20
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Score.2

The Rubber Board conducted a Seminar on the topic *“The Ways and Means of Increasing
Rubber Production in Kerala”. One of the conclusions reached at was that production
cannot be increased indefinitely by incresing the use of fertilizer alone. Which law of
production is associated with this conclusion? State the Law.

Score.2
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Some terms related to theories of profit are given below:
Uncertainty, Risk, Innovation, Surplus Value
Identify the economists associated with these terms?

Score.2
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Score.2
Indicate the flows in a two sector economy in the following diagram.

Score.2
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Score.2

Prepare a schedule (6 questions) for interviewing a bank manager to get an idea on the
following functions of a commercial banks.

Primary functions, Secondary functicns, Agency functions, General Utility
functions
Score.3
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Score.3

Categorise the following variables under appropriate headings.

National income, Individual income, Price of a good, Wage for a worker, Price level,
Inflation, Marginal Utility, Savings.
Score.2
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Score.2

It was found from various studies that the wage rate.of Kerala is comparatively higher
than that of other states. How will you explain this phenomenon with reference to the
role of trade unions?

Score.2
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Score.2

In a field visit, a group of students collected and classified the information as
shown below.

g;’ﬁf;es ™C'|TC [AC |MC |[TR |AR |[MR
1 100 500

2 250 1000

3 450 1500

4 750 2000

5 1200 2500

6 1600 : 3000

7 2100 3500

If Tatal Fixed Cost (TFC) of the firm is Rs.200.
a) Complete the above table by calculating TC, AC, MC, AR & MR

Score.4
b) Observing the AR and MR, identify the form of market and justify?

Score.]
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:’r:m‘:fli:;xes ve |1¢ |ac |Mc |TR |AR |MR
1 100 500

2 250 1000

3 450 1500

4 750 2000

5 1200 2500

6 1600 3000

7 2100 3500
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a) TC, AC, MC, AR, MR, aanlcy eneMenoas] 8pm0alS1e o}l as]andlen)ds.
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Score 1

Classify the following itemsinto tax revenue and non tax revenue.

Fees, Profession tax, Sales tax, Fines, Issue of currency, Income from public
property, Building tax; Escheats, Customs duty.

Score 2
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Score 2

Classify the following functions under two heads.

Discounting bills, Credit creation;
Rediscounting bills, Note issue.

Commercial Banks Central Bank

Crnra 1
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Following are some of the products and services that we use in our daily life.

Soap, Tooth paste, Railway, Cement, Mobile phone¢, Petroleum products, Electricity,
Computer systems, TV

a) Classify the above products and services undér the following heads

Perfect Monopolistic

compe tition Monopoly competition Oligopoly

Score. 1
b) What features did-you keep in mind while classifying them?

Score.2
¢) Did you include\any. item under perfect competition? Justify.

Score.2
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Perfect Monopolistic

competition Monopoly competition Oligopoly
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b) a@DocED QNGRS msmmomoaﬁ' PAUOD FDEBOD DD+ 3)X5?
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A production possibility curve (PPC) representing the resource allocation of Indian
Economy is shown below.

Y
good Y
R
0 good X X

a) Suppose the Indian Economy is operating at point ‘R’ due to under utilization of
resources. Suggest any two measures to lift the €conomy to any point on the production

possibility curve.
Score. 1

b)Imagine that the Indian Economy becomes a major force in information technology by

2010. If so, what will happen to the PPC, ‘Explain with the help of a diagram.
Score.2
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Score.2

The following table shows the different components of domestic factor income for an
imaginary economy. Complete the table by calculating necessary figures.
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Domestc | COMPeMSAt | ped income of | Operating

factor on of self employed surplus
employees

Rs. 500Ct Rs.150 Cr | Rs.100Cr. -

Rs. 800Cr |- Rs.180Cr Rs.200Cr

Rs. 100Cr Rs.400Cr - Rs.450Cr

- Rs.525Cr Rs.375Cr Rs.400Cr

Score.3
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Domestic Compensati- | ) 1. ed incomne. of Operating

factor income | of the self employed | surplus
employees

Rs. 500Cr Rs.150 Cr Rs.100Cr. -

Rs. 800Cr - Rs.180Cr Rs.200Cr

Rs. 100Cr | Rs.400Cr - Rs.450Cr

- Rs.525Cr Rs.375Cr Rs.400Cr

Score.3

Before the invention of money, our predecessors used tusk and other things as medium of
exchange. Why are we not using this now? Justify your answer by citing two reasons.

Score.2
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Classify the following components into the visible and invisible heads.

Shipping Services, Machinery, Textiles, Insurance

Score.?

Score.1
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The GDP of a country is esimated at Rs.50 Crs. The NDP of the same country is
estimated as Rs.45 Crs.

a) What difference can you make between these two totals?
Score. 1
b) State the definition of the concept showing the difference between these totals.
Score. 1

BD] ORI TIIEKR] HBOOM. GRHRIADD Padali. (GDP) 50 05961 d)aJaj. BRY
WOALIND PeFalM. (NDP) 45 606\ @)aiD]. ERHSM.

a) g0D LEMIMEBRUC EHAMENPR QYLENL0AV. afyiH?

Score. 1
b} goY MMIDEECS CABAYDE QRIOTOTD.afEERO® MBI,

Score.1

Capital expenditure consists of the expenditure incurred by the govt. on the acquisition of
capital assets. If so, make a list of examples-of capital investments in your locality during
the last five years.

Score.3

@RIDD GRIYH@OS HBBOSHHTINOD (TMUOGDETINIT} WUTRBODR
6 aIRICUYIERIN IO “DIRIWDM ORI (Eni0aIQEd af@ TS INF2)B)
Q] Om)INE). CIEBRIOS (NIGGUDER) EIOGER)QIG AU TRTIMIGHIS MSM RID®
DeoMIEHIBIOS OB] AV EHIWIOIED) .
Score.3

Participating in a debate, a student, Thomas argued that if there was no international
trade, Indians would have been unlucky to have access to the modern consumable goods
like mobile phone. Do you agree with his opinion. Cite any six points to substantiate
your opinion.

Score.3
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Calculate the value added by firms A and B from the following data.

2TaI0GD: MIOWIQRHSOW A W}OSW). B MHSM]. ]S16ajS0m d)g.
(Quoe|l} erRyabal) aPEDEMAN GQIBDIE] 4]} DEDENIER)d:.

in Crores

a Purchase by firm A from the rest of the world Rs.40
b Sale by frm B Rs.100
C Purchase by firmA fromfirmB Rs.60
d Sale by frm A Rs.120
¢ Exports by firm A Rs.40
f Opening stock of firm A Rs.45
g Clossing stock of fmm A Rs.30
h Opening stock of frm B Rs.40

Clossing stock of firm B Rs.30
h Purchase by firm B from fim A Rs.60

Based on the calculation state the definition of value added.
Score.5

Bu»08]
a DeSaload: awismlg A eaddonie ag Rs.40
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b 2T aI0ce mavId B @)ee off aed (emalodod) Rs.100
D@ 100 mamlg A pataioGd aaolg
¢ B @iod aflan) cioamlapey Rs.60
d @Tatoae mletd A miee alfamal Rs.120
e 2010 WY A SO BV Rs.40
f IR METI A OE SOCIAY LT WEgoaS Rs.45
g 2100, MIHIS A DB BRI «¢T MO Rs.30
2eloGe WOl B M6 GOdHIm.0f aQoesy Rs.40
DO IIGD: )OTIY B D08 3RO AidQoLs Rs.30
h A o8 AT @eTa oG NG B QIO Rs.60

ODENOB)|OS ERSITOMMOVIRD CUORLL] GRS MBI lER)d:.

Score.5
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Mr. John is the owner of a firm. He has borrowed a certain amount of money as capital
from banks for which he pays Rs.2 lakhs as interest. He also pays Rs.5 lakhs to the
workers and Rs. 1 lakh to the owner of the leased in factory building. Suppose these are
the only expenses, and his turn over is Rs.12 lakhs,

Based on the above information identify the earnings of different factors of production.
' Score.
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The Governement of Kerala raised the tax rate on the building materials such as
marble, granite, paint, pipe, floor tiles etc. from 12%-to 20% in the budget for the year
2006-07. Suppose, four families A,B,C and D planned to construct new houses. They
responded to the increased tax rate by reducing thier demand as shown in the table.

Families Percentage change mn demand
A 10

B 3

C 6

D 0

a} What would.you think the effect of the increased tax rate on the price of these
products?

Score.1
b} Calculate the price elasticity of demand for each of these four families using the
Percentage Method.

Score.2
¢) Represent graphically the slopes of demand curves showing the elasticity of demand
for these families and explain them.

Score.4
d) Which degree of elasticity of demand is not found in this example?

Score.1
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Families Percentage change in demand
A 10

B 8

C 6

D 0

a) gD LOMMEMRF)HE ANRIGDm Mlen)atl QAIBWNA a@EEReMD T .IWIMIaY
aQ)aDB) D).
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Score. 1
Babu eats-idly for breakfast. Suppose he eats 6 idilics. Keeping Marshall’s Law of

Diminishing Marginal Utility in mind, construct a table showing the relationship
between Marginal Utility and Total Utility.

No.of Idles {1 2 3 4 5 6

Margmnal
Utlity

Total Utility

Score.2
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o

No.of Idlies

Margmal
Utility

Total Utility

Score.2

In a furniture manufacturing unit, the demand for carpenters.depends on the demand
for furniture. If so, what difference can you make between the two demands.

Score.2
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Score.2

A seminar was conducted on the topic ** Classicism Vs Keynesianism™ - Prepare a
seminar report using the following points.

a) Laissez-faire
b) Automatic operation of price mechanism
) Say’s law of market

d) Wage-price-flexibility

e) Great depression of 1930°s

D Lack of effective demand

g) Under employment equilibrium

Hints- A Seminarteport should have, a title, introduction, body and conclusion
) Score.8
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a} SATHIO I Sanad

b} Aflm.QlwonorBea TIIN@ID (nldCmd.

¢} CIDIOS’ HIMUOY WD

d) BQM Qllel (@] HDHD,

e) @) IR HH IO qQUOTUOKS: DML,

f) abDRIN IO BalOGMETHIEKR) @RI,

g) qmysen SONoIdCIe q.anjelanocima
ajald: BD) AWBINIG GIBCIBS MAOEDS, @R@)6Us, DIEURIN:, Do KDAHID:
XTI QOBOEHHD.. Score.8
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Fortunately or unfortunately most of our govt: budgets are deficit one. Is deficit budget
advisable for a country like India. Justify your answer?
Score.2
GO QIOGEID MIBRIMIQIRIGRIO MANES NAGBRASE @OQIMGIE]ER)aD
ONIADSRQ)HCS HAD] (LJAIMSBQIDOST. FDABANIOMEIOAIDPB D)
oaud Qonodies goad M)EMEONOBHDI? MIGRHS GRE{a oM. TOMBLAEN).
Score.2
Fiscal instruments are given in the following table.

Fiscal policy mexcess mdeﬁcicm
Taxation

Public expenditure

Public debt

Budgetary policy

Fill the table appropriately by considering the situation of excess demand and deficient
demand.

Score.?
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